
Q1) Attempt any five of the following (Any five) [5×2=10]

a) What is R&D

b) Define finance.

c) State the meaning of development.

d) Define budget.

e) Define defence budget.

f) Define war time economy.

Q2) Attempt any four of the following (Any four) [4×5=20]

a) Industrial policy

b) Resolution

c) Military Spender

d) Department of Defence production

e) Defence economics
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Q3) Attempt any four of the following (Any four) [4×5=20]

a) Why is India’s defence spending on the rise?

b) Explain the political aspect of defence production.

c) State the future prospects of the defence debate.

d) State the role of the public sector undertaking in defence.

e) Explain the importance of DRDO in war.

Q4) Attempt any two of the following (Any Two) [2×10=20]

a) Explain in detail industrial policy resolution of the government since 1991
onwards.

b) State the role of the department of Defence production.

c) Explain in detail information and role of Shanghai Cooperation
Organisation (SCO).
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àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×2=10]

A) Ama Am{U S>r åhUOo H$m¶?

~) ’$m¶ZmÝgMr ì¶m»¶m Úm.

H$) {dH$mgmMm AW© gm§Jm.

S>) AW©g§H$ënmMr ì¶m»¶m Úm.

B) g§ajU AW©g§H$ën ì¶m»¶m Úm.

’$) ¶wÕH$mbrZ AW©ì¶dñWm ì¶m»¶m Úm.

àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]

A) Am¡Úmo{JH$ YmoaU

~) R>amd

H$) {‘{bQ>ar ñn|S>a

S>) g§ajU CËnmXZ {d^mJ

B) {S>’o$Ýg BH$m°Zm°{‘³g
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àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) ^maVmMm g§ajU IM© H$m dmT>V Amho?

~) g§ajU CËnmXZm g§X^m©V amOH$s¶ n¡by ñnï> H$am.

H$) g§ajU dmXmÀ¶m ^{dî¶mVrb e³¶Vm g§mJm.

S>) g§ajU CËnmXZmVrb gmd©O{ZH$ joÌmMr ŷ{‘H$m ñnï> H$am.

B) ¶wÕmVrb S>r Ama S>r Amo Mo ‘hÎd ñnï> H$am.

àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]

A) 1991 Z§VaMo gaH$maMo Am¡Úmo{JH$ YmoaU R>amd g{dñVa ñnï> H$am.

~) g§ajU CËnmXZ {d^mJmMr ŷ{‘H$m gm§Jm.

H$) em§Km¶ H$mo Am°naoeZ Am°J©Zm¶PoeZ (SCO) Mr Vnerbdma ‘m{hVr Am{U ŷ{‘H$m ñnï>
H$am.
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